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Image Sudoku Tectonic

Labyrinth Swedish puzzle
Find the shadow Sudoku Samurai

Crossword puzzle




Image Sudoku

This game of Sudoku consists of a square with six rows and six columns, forming
small squares. You have to put a symbol in each small square. Complete all the
squares with a symbol in such a way that each symbol appears only once in each
row and column, and only once in each rectangle.
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Labyrinth

Help Liam find his tent back.
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Find the shadow

Find the shadows that match each shape and draw a line between them!
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Crossword puzzle

For each numbered clue, fill in the word that matches the accompanying picture,
from top to bottom. Can you solve it?
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Tectonic

Complete the gaps in each outlined block with the numbers 1, 2, 3,4, 5

(the same number as the number of gaps) Use 1 to complete a block with 1 gap,

1 and 2 for a block with two gaps, etc. Gaps with the same number are not allowed
to touch each other - not even diagonally!




Swedish puzzle

To find the solution word, write the letters from the numbered boxes in the grid
into the solution section.
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Sudoku Samurai***

Sudoku Samurai consists of five Sudoku puzzles which have a number of
overlapping blocks. Complete the Sudoku Samurai in such a way that in all five
puzzles, the numbers 1 to 9 only appear once in each row, column and 3x3 block.
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Answers

Labyrinth

Image Sudoku
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Swedish puzzle Tectonic

Find the shadow
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Sudoku Samurai

Crossword puzzle
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